## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-42395-65aafea70660a

VERIFY.FTGS.US Date: January 19, 2024

Port of Loading Transport Type Seller (Exporter) LOS ANGELES Atelier Luxury Group, LLC 1330 Channing Street **Destination Country Destination Port** Los Angeles India Mumbai CA 90021 USA **Export Date Exporting Carrier** Consignee Reliance Retail Limited Import Permit Number Bill of Lading / AWB 3rd Floor, Court House Lokmanya Tilak Nagar, Dhobi Talao Mumbai 40002 Forwarding Agent Owner or Agent India

Remarks



Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) Apparel and Footwear 29 LBS Italy, Bosnia and Herzegovina ====end of products=====

Name of Authorized Trade Association

Buyer (Importer)





Authorized Signature Behzad Samya

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



#### Invoice

#IF0055758 01/19/2024

**Total** 

Ship To: Bill to:

Reliance Retail Limited 750-B,INDOSPACE LOGISTICS NDUSTRIAL PARK VPO JHAJJAR 124108 India Reliance Retail Limited 3RD FLOOR, COURT HOUSE, LOKMANYA TILAK NAGAR, DHOBI TALAO, MUMBAI Mumbai 400002

India

\$9,769.80

Sales Order #SO0	0035568	PO-2209076	Coo Douting Cuido			
			See Routing Guide			-5%
Item				QTY	Price	Amount
PS24MSL008 : P	S24MSL008	001 46		1	292.00	\$292.00
Description:	AMIRI SMOK	E SHIRT				
Content:	100% COTTC	N, LINING: 100% COTTON				
Style COO:	IT					
HTS:	6205202067					
DC24MCI 000 · D	C24MCL000L	004149		1	292.00	\$292.00
PS24MSL008 : P	-					
•	AMIRI SMOK					
Content:		N, LINING: 100% COTTON				
Style COO:	IT					
HTS:	6205202067					
PS24MSL008 : P	S24MSL008	001 50		1	292.00	\$292.00
Description:	AMIRI SMOK	E SHIRT				
Content:	100% COTTC	N, LINING: 100% COTTON				
Style COO:	IT					
HTS:	6205202067					
PS24MSS014 : P	S24MSS014	001 S		1	236.00	\$236.00
Description:	AMIRI HOUN	IDSTOOTH POPLIN SHIRT				
Content:	100% COTTC	N, LINING: 100% COTTON				
Style COO:	IT					
HTS:	6205202067					
DC24N4CC044 - D	CO 414CCO 4 4 1	204114		2	236.00	\$472.00
PS24MSS014 : P	•	•				
Description:		IDSTOOTH POPLIN SHIRT				
Content:		N, LINING: 100% COTTON				
Style COO:	IT					
HTS:	6205202067					





# Invoice

#IF0055758

Item		QTY	Price	Amount
PS24MSS014 : PS24MSS014   001   L		1	236.00	\$236.00
Description:	AMIRI HOUNDSTOOTH POPLIN SHIRT			
Content:	100% COTTON, LINING: 100% COTTON			
Style COO:	IT			
HTS:	6205202067			
PS24MJL006:	PS24MJL006 001 S	1	252.00	\$252.00
Description:	AMIRI SMOKE TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL006 : 1	PS24MJL006 001 M	2	252.00	\$504.00
Description:	AMIRI SMOKE TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL006 : 1	PS24MJL006 001 L	2	252.00	\$504.00
Description:	AMIRI SMOKE TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL007 : I	PS24MJL007 100 XS	1	180.00	\$180.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL007 : I	PS24MJL007 100 M	4	180.00	\$720.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			





# Invoice

#IF0055758

Item		QТY	Price	Amount
PS24MJL007:	PS24MJL007 100 L	4	180.00	\$720.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL007:	PS24MJL007 100 XL	2	180.00	\$360.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL007 : I	PS24MJL007 001 XS	1	180.00	\$180.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL007 : I	PS24MJL007 001 S	2	180.00	\$360.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL007 : I	PS24MJL007 001 M	4	180.00	\$720.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL007 : I	PS24MJL007 001 XL	2	180.00	\$360.00
Description:	MA BAR TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			





# Invoice

#IF0055758

Item		QTY	Price	Amount
PS24MDF005 : PS24MDF005 412 30		1	436.00	\$436.00
Description:	BANDANA JACQUARD STRAIGHT JEAN			
Content:	100% COTTON			
Style COO:	US			
HTS:	6203424518			
PS24MSB002:	PS24MSB002 001 S	1	180.00	\$180.00
Description:	AMIRI REPEAT SWIM TRUNK			
Content:	100% POLYESTER, LINING: 100% POLYESTER			
Style COO:	BA			
HTS:	6211111010			
PS24MSB002 : PS24MSB002   001   M		1	180.00	\$180.00
Description:	AMIRI REPEAT SWIM TRUNK			
Content:	100% POLYESTER, LINING: 100% POLYESTER			
Style COO:	ВА			
HTS:	6211111010			
PS24MSB002:	PS24MSB002 001 L	1	180.00	\$180.00
Description:	AMIRI REPEAT SWIM TRUNK			
Content:	100% POLYESTER, LINING: 100% POLYESTER			
Style COO:	BA			
HTS:	6211111010			
PS24MSB008:	PS24MSB008 210 S	1	180.00	\$180.00
Description:	CHECKERED SNAKE SWIM TRUNK			
Content:	100% POLYESTER, LINING: 100% POLYESTER			
Style COO:	BA			
HTS:	6211111010			
PS24MSB008:	PS24MSB008 210 M	1	180.00	\$180.00
Description:	CHECKERED SNAKE SWIM TRUNK			
Content:	100% POLYESTER, LINING: 100% POLYESTER			
Style COO:	BA			
HTS:	6211111010			





# Invoice

#IF0055758

Item		QTY	Price	Amount
PS24MSB008:	PS24MSB008 210 L	1	180.00	\$180.00
Description:	CHECKERED SNAKE SWIM TRUNK			
Content:	100% POLYESTER, LINING: 100% POLYESTER			
Style COO:	BA			
HTS:	6211111010			
PS24MJL038 : I	PS24MJL038 428 S	1	180.00	\$180.00
Description:	MA LOGO TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL038 : I	PS24MJL038 428 M	1	180.00	\$180.00
Description:	MA LOGO TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MJL038 : I	PS24MJL038 428 L	1	180.00	\$180.00
Description:	MA LOGO TEE			
Content:	100%COTTON, RIB: 100% COTTON			
Style COO:	IT			
HTS:	6109100012			
PS24MKL033:	PS24MKL033 001 S	1	516.00	\$516.00
Description:	LNY DRAGON CREW NECK			
Content:	98% WOOL 2% COTTON			
Style COO:	IT			
HTS:	6110190070			
PS24MKL033:	PS24MKL033 001 M	1	516.00	\$516.00
Description:	LNY DRAGON CREW NECK			
Content:	98% WOOL 2% COTTON			
Style COO:	IT			
HTS:	6110190070			





#### Invoice

#IF0055758

01/19/2024

Item	QTY	Price	Amount
DC24MVI 022 • DC24MVI 022   004   I	1	516.00	\$516.00

PS24MKL033: PS24MKL033 | 001 | L

**Description:** LNY DRAGON CREW NECK **Content:** 98% WOOL 2% COTTON

Style COO: IT

**HTS:** 6110190070

 Total Quantity
 45

 Subtotal
 \$10,284.00

 Discount
 \$-514.20

 Shipping Cost
 \$0.00

 Total
 \$9,769.80



Generated on: Jan 18, 20244:43:13 PM

Ship From	AMIRI 2825 S. SANTA FE AVE., VERNON, CA 90058 US				
Ship To Name	Reliance Retail Limited				
Address 1	750-B,INDOSPACE LOGISTICS				
City	JHAJJAR				
State	**				
Postal Code	124108				
Country	IN				

Shipment ID	AMC3-IF0055758				
Customer PO	PO-2209076				
Trailing	600				

## Packed Carton Summary

Container ID	Length	Width	Height	UM	Weight	UM	Qty Packed
00001918460184319607	25	15	11	IN	18	LB	26
00001918460184319638	24	15	7	IN	11	LB	19
2							
					29		45

#### Packed Carton Detail

Container ID	Length	Width	Height	UM	Weight	UM	Item	Qty			
00001918460184319607	25	15	11	IN	18	LB	PS24MDF005 412 30	1			
							PS24MJL006 001 L	2			
								PS24MJL006 001 M	2		
										PS24MJL006 001 S	1
							PS24MJL007 100 L	4			
							PS24MJL007 100 M	4			
							PS24MJL007 100 XL	2			
										PS24MKL033 001 L	1
							PS24MKL033 001 M	1			



Container ID

Generated on: Jan 18, 20244:43:13 PM

### **Packed Carton Summary**

Container ID	Length	Width	Height	UM	Weight	UM	Qty Packed
00001918460184319607	25	15	11	IN	18	LB	26
00001918460184319638	24	15	7	IN	11	LB	19
2							
					29		45

#### **Packed Carton Detail**

Length Width Height UM Weight UM

00001918460184319607	25	15	11	IN	IN	IN 18	IN	18	LB	PS24MKL033 001 S	1
										PS24MSL008 001 46	1
							PS24MSL008 001 48	1			
							PS24MSL008 001 50	1			
							PS24MSS014 001 L	1			
							PS24MSS014 001 M	2			
							PS24MSS014 001 S	1			
00001918460184319638	38 24 1	15	7	IN	11	LB	PS24MJL007 001 M	4			
							PS24MJL007 001 S	2			



Qty

Item

Generated on: Jan 18, 20244:43:13 PM

### **Packed Carton Summary**

Container ID	Length	Width	Height	UM	Weight	UM	Qty Packed
00001918460184319607	25	15	11	IN	18	LB	26
00001918460184319638	24	15	7	IN	11	LB	19
2							
					29		45

### Packed Carton Detail

Container ID	Length	Width	Height	UM	Weight	UM	Item	Qty			
00001918460184319638	24	15	7	IN	11	LB	PS24MJL007 001 XL	2			
							PS24MJL007 001 XS	1			
							PS24MJL007 100 XS	1			
							PS24MJL038 428 L	1			
										PS24MJL038 428 M	1
							PS24MJL038 428 S	1			
							PS24MSB002 001 L	1			
						PS24MSB002 001 M	1				
							PS24MSB002 001 S	1			



Generated on: Jan 18, 20244:43:13 PM

#### **Packed Carton Summary**

Container ID	Length	Width	Height	UM	Weight	UM	Qty Packed		
00001918460184319607	25	15	11	IN	18	LB	26		
00001918460184319638	24	15	7	IN	11	LB	19		
2									
					29		45		

#### Packed Carton Detail

Container ID	Length	Width	Height	UM	Weight	UM	Item	Qty	
00001918460184319638	24	15	7	IN	11	LB	PS24MSB008 210 L	1	
								PS24MSB008 210 M	1
					PS24MSB008 210 S	1			

